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180° ൌ 𝜋 radians. Let’s use proportions to calculate the desired angle in radians. 

െ480
180

ൌ
𝑥
𝜋

          
 

⇒           
െ480
180

𝜋 ൌ 𝑥          
 

⇒          െ
𝟖
𝟑

𝝅 ൌ 𝒙                         𝐀𝐧𝐬𝐰𝐞𝐫 𝐃 

 

 

Use proportions to calculate the desired angle in degrees. 

11
4 𝜋

𝜋
ൌ

𝑥
180

      
 

⇒      
11
4

ൌ
𝑥

180
      

 
⇒      

11
4

∙ 180 ൌ 𝑥      
 

⇒       𝟒𝟗𝟓° ൌ 𝒙              𝐀𝐧𝐬𝐰𝐞𝐫 𝐂 

 

 

To get the desired coterminal angle, add or subtract 2𝜋 repeatedly until the value of 𝜃 is in the 
interval  ሺ0, 2𝜋ሻ. 

17𝜋
5

െ 2𝜋 ൌ  
17𝜋

5
െ

10𝜋
5

 ൌ  
𝟕𝝅
𝟓

 𝐫𝐚𝐝𝐢𝐚𝐧𝐬                                       𝐀𝐧𝐬𝐰𝐞𝐫 𝐁 

 

 

csc
3𝜋
2

 ൌ  
1

sin
3𝜋
2

 ൌ   
1

െ1
  ൌ  െ𝟏                                                  𝐀𝐧𝐬𝐰𝐞𝐫 𝐀 
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sin ൬
22𝜋

3
൰ ൌ sin ൬

22𝜋
3

െ 6𝜋൰ ൌ sin ൬
22𝜋

3
െ

18𝜋
3

൰ ൌ sin ൬
4𝜋
3

൰ ൌ െ
√𝟑
𝟐

                                 𝐀𝐧𝐬𝐰𝐞𝐫 𝐃 

Further explanation: the reference angle for  
ସగ

ଷ
  in Q3 is:  

ସగ

ଷ
െ 𝜋 ൌ

గ

ଷ
  and  sin ቀగ

ଷ
ቁ ൌ √ଷ

ଶ
.  In Q3, the 

sine function is negative, so the desired cosine value is  െ √ଷ

ଶ
. 

 

cos 39°  ൌ  sinሺ90° െ 39°ሻ  ൌ  𝐬𝐢𝐧 𝟓𝟏°                                𝐀𝐧𝐬𝐰𝐞𝐫 𝐀 

 

 

 

 

 

 

Then, the horizontal leg must be:   𝑥 ൌ െඥ9ଶ െ ሺെ2ሻଶ ൌ െ√77.     Then, 

sec 𝜃 ൌ
1

cos 𝜃
ൌ

𝑟
𝑥

ൌ
9

െ√77
 ൌ  െ

𝟗√𝟕𝟕
𝟕𝟕

                                 𝐀𝐧𝐬𝐰𝐞𝐫 𝐂 

 

 
 

First, find the positive coterminal angle less than 2𝜋 radians. 

െ
ଵଵగ

ଵଶ
൅ 2𝜋 ൌ

ଵଷగ

ଵଶ
.    This angle is in Quadrant 3.  So, the reference angle is:  

𝜌 ൌ
13𝜋
12

െ 𝜋 ൌ
𝝅

𝟏𝟐
                                  𝐀𝐧𝐬𝐰𝐞𝐫 𝐂 

Notice that sin 𝜃 ൏ 0 , tan 𝜃 ൐ 0.  Therefore 
𝜃 is in 𝑄3, where 𝑥 and 𝑦 are both negative. 

sin 𝜃 ൌ
𝑦
𝑟

ൌ
െ2
9
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Characteristics of:   𝒚 ൌ െ𝟐 𝐬𝐢𝐧
𝟏

𝟐
𝒙 

 Period is 4𝜋, so we are looking for a graph that 
has a compete wave over a distance of 4𝜋.  This 
narrows the choices to C and D. 

 The amplitude is 2.  That does not help. 

 The graph is upside down, relative to the parent 

function because 𝐀 is negative.  That lead us to 

Answer D, which looks like an upside‐down sine 
function. 

 Answer	D	

 

 

 

 

 

   

Characteristic  𝒚 ൌ 𝐬𝐢𝐧 𝒙  𝒚 ൌ െ𝟐 𝐬𝐢𝐧
𝟏
𝟐

𝒙 

Amplitude ൌ |𝐴|  1  2 (negative) 

Period ൌ
ଶగ

஻
  2𝜋  2𝜋 ൊ

1
2

ൌ 4𝜋 

Phase Shift ൌ
஼

஻
  0  0 

Vertical Shift ൌ 𝐷  0  0 

Standard Form:  𝒚 ൌ 𝑨 𝐬𝐢𝐧ሺ𝑩𝒙 െ 𝑪ሻ ൅ 𝑫 
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Characteristics of:   𝒚 ൌ 𝟑 𝐬𝐞𝐜 ቀ𝒙

𝟐
ቁ 

 Period is 4𝜋, so we are looking for a graph that 
has a compete wave (one regular U and one 

upside‐down U) over a distance of 4𝜋.  This 
narrows the choices to A and D. 

 The amplitude is 3.  That does not help. 

 The graph is a secant function with no phase shift.  

That lead us to Answer A, whereas answer D has 
a phase shift. 

 Answer	A	

	

	

sinିଵ ቀ√ଷ

ଶ
ቁ  is the angle that has a sine value equal to  √

ଷ

ଶ
.   sinିଵ 𝑥  is defined in Q1 and Q4. 

sinିଵ ቀ√ଷ

ଶ
ቁ ൌ

𝝅

𝟑
                   Answer	B	

	

Characteristic  𝒚 ൌ 𝐬𝐞𝐜 𝒙  𝒚 ൌ 𝟑 𝐬𝐞𝐜 ൬
𝟏
𝟐

𝒙൰ 

Stretch ൌ |𝐴|  1  3 

Period ൌ
ଶగ

஻
  2𝜋  2𝜋 ൊ

1
2

ൌ 4𝜋 

Phase Shift ൌ
஼

஻
  0  0 

Vertical Shift ൌ 𝐷  0  0 

Standard Form:  𝒚 ൌ 𝑨 𝐬𝐞𝐜ሺ𝑩𝒙 െ 𝑪ሻ ൅ 𝑫 
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We are in Quadrant 1 because 
√ଶ

ଶ
 is positive.  Then,  

௬

௥
ൌ √ଶ

ଶ
. 

Calculate the horizontal leg of the triangle:  𝑥 ൌ ඥ𝑟ଶ െ 𝑦ଶ ൌ ට2ଶ െ ൫√2൯
ଶ

ൌ √2.   Then draw. 

 

	

	

	

The ship wants to get to the port.  We can see by the illustration that we 

need to calculate the angle 𝜃, and that this angle will give us the bearing in 
the 𝐍𝐄 direction that the ship needs to travel.   

The bearing will be read as an angle that begins North and moves to the 

East. 

tan 𝜃 ൌ
𝑥
𝑦

  

𝜃 ൌ tanିଵ ൬
𝑥
𝑦

൰ ൌ tanିଵ ൬
െ21
െ49

൰ ൌ 23.2° 

Then, the bearing that the ship must follow is:  𝐍 𝟐𝟑. 𝟐° 𝐄      Answer	D			 

	

	

The spring will start at a 𝑦‐value of െ11 (since it is pulled down with an amplitude of 11), and 
oscillate between െ11 and ൅11 (absent any other force) over time.  A good representation of this 
would be a cosine curve with lead coefficient  𝑎 ൌ െ11.  

The period of the function is 3𝜋 seconds.  So, we get: 

𝑓 ൌ
1

period
ൌ

1
3𝜋

       and      𝜔 ൌ 2𝜋𝑓 ൌ 2𝜋 ∙
1

3𝜋
 ൌ  

2
3
 

The resulting equation, then, is:    𝒅 ൌ െ𝟏𝟏 𝐜𝐨𝐬 ቀ𝟐

𝟑
𝒕ቁ          𝐀𝐧𝐬𝐰𝐞𝐫 𝐂 

Based on the diagram, then, 

cot ቀsinିଵ ቂ√ଶ

ଶ
ቃቁ ൌ cot θ ൌ

௫

௬
ൌ √ଶ

√ଶ
ൌ 𝟏      𝐀𝐧𝐬𝐰𝐞𝐫 𝐃   

Note:  𝜔 is the lower‐

case Greek letter 

omega.  The upper‐

case omega is Ω. 
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Note that there is only one solution with two triangles, so the answer must be C.  However, let’s 

solve these triangles in case more work is required on the final! 

	

	

	

	

       To find the measure of ∠𝐴 in each triangle, use the Law of Sines: 

𝑎
sin 𝐴

ൌ
𝑏

sin 𝐵
        

 
⇒        

12.94
sin 𝐴

ൌ
8.0

sin 18°
        

 
⇒        sin 𝐴 ൌ 0.500.     Then: 

𝑚∠𝐴 ൌ sinିଵ 0.5 ൌ 30°                        or               𝑚∠𝐴 ൌ 180° െ 42° ൌ 150° 
 

 

 

 

 

 

	

	

	

	

	

First, we need to compare 𝒃 to 𝒉. 

𝑏 ൌ 8.0. ℎ ൌ 12.94 sin 18° ൌ 3.999. 

Notice that  𝑏 ൐ ℎ,  so there is at least one triangle.   

Next, compare 𝑏 to the length 𝑎.  Since 𝑏 ൏ 𝑎, there 
must be two triangles.  Solve both.    𝐀𝐧𝐬𝐰𝐞𝐫 𝐂 

Triangle 1 – Start with: 

𝑎 ൌ 12.94,   𝑏 ൌ 8.0 
𝑚∠𝐵 ൌ 18°,   𝒎∠𝑨 ൌ 𝟑𝟎° 

Then, 

𝒎∠𝑪 ൌ 180° െ 18° െ 30° ൌ 𝟏𝟑𝟐° 

And,  

𝑏
sin 𝐵

ൌ
𝑐

sin 𝐶
     

 
⇒      

8.0
sin 18°

ൌ
𝑐

sin 132°
 

𝒄 ൌ 𝟏𝟗. 𝟐 

Triangle 2 – Start with: 

𝑎 ൌ 12.94, 𝑏 ൌ 8.0 
𝑚∠𝐵 ൌ 18°,   𝒎∠𝑨 ൌ 𝟏𝟓𝟎° 

Then, 

𝒎∠𝑪 ൌ 180° െ 18° െ 150° ൌ 𝟏𝟐°  

And,  

𝑏
sin 𝐵

ൌ
𝑐

sin 𝐶
     

 
⇒      

8.0
sin 18°

ൌ
𝑐

sin 12°
 

𝒄 ൌ 𝟓. 𝟒 
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We are given two sides and the included angle, so we will use the Law of Cosines. 

𝒂 ൌ ඥ2ଶ ൅ 3ଶ െ 2ሺ2ሻሺ3ሻሺcos 95°ሻ  ~  3.74778   ~  𝟑. 𝟕 

𝑎
sin 𝐴

ൌ
𝑏

sin 𝐵
    

 
⇒    

3.74778
sin 95°

ൌ
2

sin 𝐵
    

 
⇒    sin 𝐵 ൌ 0.5316   

 
⇒     𝒎∠𝑩 ൌ 𝟑𝟐° 

𝒎∠𝑪 ൌ 180° െ 95° െ 32° ൌ 𝟓𝟑°    Closest Answer is:    𝐀𝐧𝐬𝐰𝐞𝐫 𝐁 

	

	

The unit vector is:  
𝐯

‖𝐯‖
ൌ

ସ𝐢ାଷ𝐣

√ସమାଷమ ൌ
ସ𝐢ାଷ𝐣

ହ
ൌ

𝟒

𝟓
𝐢 ൅

𝟑

𝟓
𝐣                   𝐀𝐧𝐬𝐰𝐞𝐫 𝐀  

 

 

The unit vector in the direction θ ൌ 120° is: 

〈cos 120°, sin 120°〉 ൌ 〈െ
1
2

,
√3
2

〉 ൌ െ
1
2

𝐢 ൅
√3
2

𝐣 

Multiply this by  ‖𝐯‖ ൌ 𝟏𝟎  to get  𝐯: 

𝐯 ൌ 10 ቆെ
1
2

𝐢 ൅
√3
2

𝐣ቇ ൌ െ𝟓𝐢 ൅ 𝟓√𝟑 𝐣             𝐀𝐧𝐬𝐰𝐞𝐫 𝐀 

 

To add vectors, simply line them up 

vertically and add: 

 

 

 

𝐮 ൌ 〈െ9, െ4〉 
𝐯 ൌ 〈െ4, 8〉 

𝐮 ൅ 𝐯 ൌ 〈െ9 െ 4, െ4 ൅ 8〉 

𝐮 ൅ 𝐯 ൌ 〈െ𝟏𝟑, 𝟒〉 ൌ െ𝟏𝟑𝐢 ൅ 𝟒𝐣  𝐀𝐧𝐬𝐰𝐞𝐫 𝐂 
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𝐮 ൌ 〈െ1, 6〉 
∙ 𝐯 ൌ 〈 2, െ4〉 

𝐮 ൉  𝐯 ൌ ሺെ1 ∙ 2ሻ ൅ ሺ6 ∙ ሾെ4ሿሻ ൌ െ26 

‖𝐮‖ ൌ ඥሺെ1ሻଶ ൅ 6ଶ ൌ √37 

‖𝐯‖ ൌ ඥ2ଶ ൅ ሺെ4ሻଶ ൌ √20 

cos 𝜃 ൌ 
𝐮 ∙ 𝐯

‖𝐮‖  ‖𝐯‖
ൌ

ିଶ଺

√ଷ଻ ∙ √ଶ଴
ൌ

ିଶ଺

√଻ସ଴
 

𝜽 ൌ cosିଵ ൬
െ26

√740
൰ ൌ 𝟏𝟔𝟐. 𝟗° 𝐀𝐧𝐬𝐰𝐞𝐫 𝐂 

 

cos 𝜃 ൌ 
𝐮 ∙ 𝐯

‖𝐮‖  ‖𝐯‖
 

0° ൑ 𝜃 ൑ 180° 
 

 

 

 

 

 

 

 

𝐮 ൌ 〈 4,    3〉 
∙  𝐯 ൌ 〈 3, െ4〉 

𝐮 ൉  𝐯 ൌ ሺ4 ∙ 3ሻ ൅ ሺ3 ∙ ሾെ4ሿሻ ൌ 0 

    Therefore, the two vectors are orthogonal.              𝐀𝐧𝐬𝐰𝐞𝐫 𝐂 
 

 

 

This point lies in quadrant 1, so, 

𝑟 ൌ ඥ𝑥ଶ ൅ 𝑦ଶ ൌ ට൫6√3൯
ଶ

൅ 6ଶ ൌ √144 ൌ 12 

𝜃 ൌ tanିଵ ቀ
𝑦
𝑥

ቁ ൌ tanିଵ ൬
6

6√3
൰ ൌ tanିଵ ൬

1

√3
൰ ൌ

𝜋
6
 

So, the polar coordinates are:  ቀ12,
𝝅

𝟔
ቁ                    𝐀𝐧𝐬𝐰𝐞𝐫 𝐃 

Important:  the angle calculated using the tanିଵ 𝑥 function will always be in Q1 or Q4.  If the 
rectangular point lies in Q2 or Q3, you will need to add 𝜋 radians to tanିଵ 𝑥 to obtain the correct 
polar coordinates. 
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Substitute  cos 𝜃 ൌ
௫

௥
  and  𝑟ଶ ൌ 𝑥ଶ ൅ 𝑦ଶ 

𝑟 ൌ െ4 ቀ
𝑥
𝑟

ቁ 

𝑟ଶ ൌ െ4𝑥 

𝑥ଶ ൅ 𝑦ଶ ൌ െ4𝑥 

𝑥ଶ ൅ 4𝑥          ൅ 𝑦ଶ ൌ 0    Next, complete the square. 

ሺ𝑥ଶ ൅ 4𝑥 ൅ 4ሻ ൅ 𝑦ଶ ൌ 4 

ሺ𝒙 ൅ 𝟐ሻ𝟐 ൅ 𝒚𝟐 ൌ 𝟒                  𝐀𝐧𝐬𝐰𝐞𝐫 𝐁 

 

 

A polynomial function will pass through the 𝑥‐axis if its multiplicity at that root is odd. 

A polynomial function will touch the 𝑥‐axis and turn around if its multiplicity at that root is even. 

ሺ𝑥 ൅ 1ሻ     
 

⇒      Root is: െ 1    
 

⇒      Multiplicity is: 1    
 

⇒     Graph passes through x‐axis 

ሺ𝑥 െ 6ሻ     
 

⇒      Root is:      6     
 

⇒      Multiplicity is: 1    
 

⇒     Graph passes through x‐axis 

ሺ𝑥 െ 1ሻଶ   
 

⇒      Root is:       1    
 

⇒      Multiplicity is: 2    
 

⇒     Graph touches and turns around 

Answer	B	

 

 

In this case, 𝑛 ൌ 24.  Notice that they changed the formula on us.  However, since the interest 

rate is quarterly ቀ
.଴ଽ

ସ
ቁ, the number of periods should be the number of quarters.  Then, 

𝐴 ൌ 5000 ቀ1 ൅
.଴ଽ

ସ
ቁ

ଶସ
ൌ $8,528.83                                 Answer	B	
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How should one approach this problem without an intimate knowledge of polar graphs? 

Look at the possible answers: 

 Answer C requires the graph to flow between 𝑟‐values of 1 and 3 because cosine 
oscillates between 1 and ‐1.  It is out. 

 Answer D is a circle of radius 2.  It is out. 

 That leaves Answers A and B, which will have different graphs.  Try a point that fits the 

equation on one of the graphs and see if it fits.   

 To tell the difference between the graphs in Answers A and B, we should try the angle  

𝜃 ൌ 45°  because the two equations will have different 𝑟‐values at that angle.  We know 

this by looking at the two sample rose curves shown below (taken from the Trigonometry 

Handbook, v 2.2, page 74). 

At 𝜃 ൌ 45°,  find the value of 𝑟. 

Answer A:  𝑟 ൌ 2 sin 2𝜃 ൌ 2 sinሺ2 ∙ 45ሻ° ൌ 2 sin 90° ൌ 2 ∙ 1 ൌ 2.  This is NOT on the graph. 

Answer B:  𝑟 ൌ 2 cos 2𝜃 ൌ 2 cosሺ2 ∙ 45ሻ° ൌ 2 cos 90° ൌ 2 ∙ 0 ൌ 0.  This IS on the graph.  
Therefore, this this is the graph of  𝒓 ൌ 𝟐 𝐜𝐨𝐬 𝟐𝜽                                 𝐀𝐧𝐬𝐰𝐞𝐫 𝐁 

The four Rose Forms: 
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𝑟 ൌ ඥሺെ12ሻଶ ൅ ሺ16ሻଶ ൌ 20 

𝜃 ൌ tanିଵ ൬
16

െ12
൰ ൌ tanିଵ ൬െ

4
3

൰  in 𝑄2 ൌ  126.9° 

So, the polar form is:  𝟐𝟎 𝐜𝐢𝐬 𝟏𝟐𝟔. 𝟗°                    𝐀𝐧𝐬𝐰𝐞𝐫 𝐂 

Note:  To convert a polar form to exponential form, degrees must be 

converted to radians.  So,  20 cis 129.6° ~ 20𝑒ሺଶ.ଶଵସ௜ሻ.  However, the 

student may not be required to know this at this point in the course. 

 

 

 

To multiply two numbers in polar form, multiply the 𝑟‐values and add the angles. 

𝑧ଵ ∙ 𝑧ଶ ൌ ሺ5 ∙ 4ሻ ∙ cisሺ20° ൅ 10°ሻ ൌ 𝟐𝟎 𝐜𝐢𝐬ሺ𝟑𝟎°ሻ                            𝐀𝐧𝐬𝐰𝐞𝐫 𝐁 

 

 

 

𝑟 ൌ ඥ1ଶ ൅ ሺെ1ሻଶ ൌ √2 

𝜃 ൌ tanିଵ ൬
െ1
1

൰ ൌ tanିଵሺെ1ሻ  in 𝑄4 ൌ  െ
𝜋
4
 

Then, ሺ1 െ 𝑖ሻଵ଴ ൌ ൬√2 cis ቀെ
గ

ସ
ቁ൰

ଵ଴
ൌ √2

ଵ଴
 cis ൬10 ∙ ቀെ

గ

ସ
ቁ൰ 

ൌ 32 cis ൬
െ10𝜋

4
൰ ൌ 32 cis ൬

െ5𝜋
2

൰ ൌ 32 cis ቀ
െ𝜋
2

ቁ 

ൌ 32 ∙ ቀcos ቀ
െ𝜋
2

ቁ ൅ 𝑖 sin ቀ
െ𝜋
2

ቁቁ ൌ 32൫0 ൅ 𝑖ሺെ1ሻ൯ ൌ െ𝟑𝟐𝒊                 𝐀𝐧𝐬𝐰𝐞𝐫 𝐀 
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This problem requires the addition of two vectors.  The approach I prefer is: 

1) Convert each vector into its i and j components, call them 𝑥 and 𝑦,  
2) Add the resulting 𝑥 and 𝑦 values for the two vectors, and 
3) Convert the sum to its polar form.  

Keep additional accuracy throughout and round at the end.  This will prevent error compounding 

and will preserve the required accuracy of your final solutions. 

Step 1:  Convert each vector into its i and j components 

Let u be a force of 35 lbs. at bearing: N45°E 

From the diagram at right,  

α ൌ 90° െ 45° ൌ 45° 

𝑥 ൌ 35 cos 45° ൌ 24.749 

𝑦 ൌ 35 sin 45° ൌ 24.749 

Let v be a force of 55 lbs. at bearing: S30°E 

From the diagram at right,  

β ൌ 90° െ 30° ൌ 60°     ሺെ60° in Q4ሻ 

𝑥 ൌ 55 cosሺെ60°ሻ ൌ 27.5 

𝑦 ൌ 55 sinሺെ60°ሻ ൌ െ 47.631 
 

Step 2:  Add the results for the two vectors 

 

 

 

Step 3:  Convert the sum to its polar form 

  Direction Angle ൌ 𝛉 ൌ tanିଵ ቀିଶଶ.଼ଷଷ

ହଶ.ଶସଽ
ቁ ൌ െ𝟐𝟑. 𝟕° 

  Distance ൌ 𝒅 ൌ ඥ52.249𝟐 ൅ ሺെ22.833ሻ𝟐 ൌ 𝟓𝟕. 𝟎𝟒 lbs. 

Closest answer is:  𝐀𝐧𝐬𝐰𝐞𝐫 𝐁 

 

   

𝐮 ൌ 〈24.749,     24.749〉 
𝐯 ൌ 〈27.5,   െ 47.631〉 

      𝐮 ൅ 𝐯 ൌ 〈52.249, െ22.833〉 
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𝑔ሺ𝑥ሻ ൌ 4𝑥 ൅ 2 

𝑔ሺ𝑥 ൅ 1ሻ ൌ 4ሺ𝑥 ൅ 1ሻ ൅ 2 ൌ 4𝑥 ൅ 4 ൅ 2 ൌ 𝟒𝒙 ൅ 𝟔                        𝐀𝐧𝐬𝐰𝐞𝐫 𝐁 

 

 

 

 

To find the value of ℎሺ8ሻ, we must look at the conditions given in the definition of the piecewise 

function, i.e., the “if” parts of the definition.  In this problem, since  𝑥 ൌ 8,   we must use the bottom 

of the two lines of given.  So, 

ℎሺ𝑥ሻ ൌ 𝑥 െ 4         
 

⇒           𝑓ሺ8ሻ ൌ 8 െ 4 ൌ 𝟒                     𝐀𝐧𝐬𝐰𝐞𝐫 𝐁 

 

 

 

 

Charge for day 1:   $146 
Charge for days 2‐5:            384  ($96 per day for four days) 
Charge for part of day 6:       96 

Total:      $𝟔𝟐𝟔                           𝐀𝐧𝐬𝐰𝐞𝐫 𝐂 
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Note that this expression gives the slope of the secant line connecting two points whose 𝑥‐values 
are h units apart.  Is forms part of the definition of the derivative in Calculus. 

𝑓ሺ𝑥 ൅ ℎሻ െ 𝑓ሺ𝑥ሻ
ℎ

ൌ
ሾሺ𝑥 ൅ ℎሻଶ ൅ 2ሺ𝑥 ൅ ℎሻ െ 9ሿ െ ሾ𝑥ଶ ൅ 2𝑥 െ 9ሿ

ℎ
 

ൌ
ሺ𝑥ଶ ൅ 2ℎ𝑥 ൅ ℎଶሻ ൅ ሺ2𝑥 ൅ 2ℎሻ െ 9 െ ሾ𝑥ଶ ൅ 2𝑥 െ 9ሿ

ℎ
 

ൌ
𝑥ଶ ൅ 2ℎ𝑥 ൅ ℎଶ ൅ 2𝑥 ൅ 2ℎ െ 9 െ 𝑥ଶ െ 2𝑥 ൅ 9

ℎ
 

𝑥ଶ െ 𝑥ଶ ൅ 2ℎ𝑥 ൅ ℎଶ ൅ 2𝑥 െ 2𝑥 ൅ 2ℎ െ 9 ൅ 9
ℎ

 

ൌ
2ℎ𝑥 ൅ ℎଶ ൅ 2ℎ

ℎ
 

ൌ 𝟐𝒙 ൅ 𝒉 ൅ 𝟐                             𝐀𝐧𝐬𝐰𝐞𝐫 𝐀 

Note:  If you know a little Calculus, you know that  
ௗ

ௗ௫
ሺ𝑥ଶ ൅ 2𝑥 െ 9ሻ ൌ 2𝑥 ൅ 2, which must be a 

part of the solution, and that there would be no denominator in the solution.  This points directly 

to Answer A, without doing all the complicated Algebra. 

 

 

One of the reasons students find these problems difficult is that there are an infinite number of 

ways to express 𝑓 and 𝑔.  We will stick to the most obvious solutions.  Also, note that the dot 

between the 𝑓 and the 𝑔 appears to be a multiplication sign, ∙.  It is not.  It is the function 
composition sign, ∘.  

ℎሺ𝑥ሻ appears to have the function  𝑦 ൌ 8𝑥 ൅ 10  inside the function  𝑦 ൌ
଼

√௫
.  We let the inside 

function be the function closest to 𝑥 in the expression  ሺ𝑓 ∘ 𝑔ሻሺ𝑥ሻ,  that is,  𝑔ሺ𝑥ሻ.  We let the 

other function be 𝑓ሺ𝑥ሻ.  So, 

𝒇ሺ𝒙ሻ ൌ 
𝟖

√𝒙
     and     𝒈ሺ𝒙ሻ ൌ 𝟖𝒙 ൅ 𝟏𝟎                        𝐀𝐧𝐬𝐰𝐞𝐫 𝐃   
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To find an inverse function, switch the 𝑥 and 𝑦 in the original function and solve for 𝑦. 

𝑥 ൌ ඥ𝑦 ൅ 5           
 

⇒           𝑥ଶ ൌ 𝑦 ൅ 5          
 

⇒           𝑥ଶ െ 5 ൌ 𝑦  

So, 

𝒇ି𝟏ሺ𝒙ሻ ൌ 𝒙𝟐 െ 𝟓                            Answer	C 

 

 

 

Let the rectangular plot have dimensions  𝑥 by 𝑦.  Then the perimeter is  𝑃 ൌ 𝑥 ൅ 2𝑦  because one 
side of the plot does not need fencing (due to the river).  The area is  𝐴 ൌ 𝑥𝑦.   

We are given that  𝑃 ൌ 104,  and we are asked to maximize 𝐴.  

Then, 

104 ൌ 𝑥 ൅ 2𝑦          
 

⇒           104 െ 𝑥 ൌ 2𝑦          
 

⇒           𝑦 ൌ 52 െ
𝑥
2
 

Substitute this into the formula for the area: 

𝐴 ൌ 𝑥𝑦 ൌ 𝑥 ቀ52 െ
௫

ଶ
ቁ ൌ െ

ଵ

ଶ
𝑥ଶ ൅ 52𝑥   which is a parabola (upside down).  Its maximum value is 

at the vertex.  At the vertex, we have: 

𝑥 ൌ
െ𝑏
2𝑎

ൌ
െ52

2 ቀെ
1
2ቁ

ൌ 52 feet         
 

⇒           𝑦 ൌ 52 െ
𝑥
2

ൌ 52 െ 26 ൌ 26 feet 

Therefore, the dimensions that maximize the area of the box are  𝟓𝟐 𝐟𝐞𝐞𝐭 𝐛𝐲 𝟐𝟔 𝐟𝐞𝐞𝐭, with the one 
side parallel to the river being the 52 feet.    𝐀𝐧𝐬𝐰𝐞𝐫 𝐀 

Trick for rectangular plot problems.  No matter how many fences there are, the total length of the 

vertical (in the drawing) fences will equal half of the total fencing.  The total length of the horizontal 

(in the drawing) fences will also equal half of the total fencing.   

So, in this problem, we have 104 ൊ 2 ൌ 52 feet of horizontal fence, and 52 feet of vertical fence.  
Since there is only one horizontal fence, it will be 52 feet long.  Since there are two vertical fences, 

they will each be  52 ൊ 2 ൌ 26 feet long. 

Lesson: this is a multiple‐choice problem, so there is no need to do the Algebra.  Just use the trick 

mentioned here. 
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We need to factor 𝑓ሺ𝑥ሻ in order to determine the roots (zeros) and their multiplicities. 

𝑥ଷ ൅ 𝑥ଶ െ 12𝑥 ൌ 𝑥ሺ𝑥ଶ ൅ 𝑥 െ 12ሻ ൌ 𝑥ሺ𝑥 ൅ 4ሻሺ𝑥 െ 3ሻ 

So, the roots of 𝑓ሺ𝑥ሻ are  𝑥 ൌ ሼ𝟎, െ𝟒, 𝟑ሽ. 

Multiplicity is the exponent on the term that generates the root.  All three terms of the factored 

form of 𝑓ሺ𝑥ሻ have powers of 1.  Therefore, all three roots have multiplicities of 1. 

Multiplicities that are odd result in the curve passing through the 𝒙‐axis at the corresponding 
root.  Multiplicities that are even result in the curve touching the 𝒙‐axis and turning around at 
the corresponding root.   

Therefore, the curve passes through the 𝒙‐axis at all three roots. 
                    𝐀𝐧𝐬𝐰𝐞𝐫 𝐂 

 

 

5    2    െ 13           12        15 
                        10     െ 15   െ 15    

            2       െ 3       െ 3           0    

The result of the division begins with one less degree than the original dividend, and uses the 

coefficients obtained via synthetic division.  That is: 

𝟐𝒙𝟐 െ 𝟑𝒙 െ 𝟑                                    𝐀𝐧𝐬𝐰𝐞𝐫 𝐂  
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This is a multiple‐choice question, so we can ignore how it says to do the work if we want to.  

However, it is good to practice synthetic division, so let’s do that. 

Possible rational roots are of the form  
௣

௤
  where 𝑝 is a factor of the constant term and 𝑞 is a factor of 

the lead coefficient.  So, possible rational roots are:  േ 
ଵ,ଶ,ଷ,଺

ଵ
 ൌ േ1, േ2, േ3, േ6.  Let’s consider 

them: 

 ൅1 will work because the sum of the coefficients is zero. 

 െ1 will work because the sum of the coefficients of the odd degree terms (1 െ 1 ൌ 0) is 
equal to the sum of the coefficients of the even degree terms (6 െ 6 ൌ 0). 

Let’s use synthetic division with 1 as a root (or “zero”). 

  1    1          6      െ 1    െ 6 
                         1           7         6    

            1           7          6          0    

The remaining polynomial is  𝑥ଶ ൅ 7𝑥 ൅ 6 ൌ ሺ𝑥 ൅ 1ሻሺ𝑥 ൅ 6ሻ        
 

⇒        𝑥 ൌ ሼെ1, െ6ሽ 

So, the complete solution of the polynomial is the set of zeros:  𝒙 ൌ ሼെ𝟔, െ𝟏, 𝟏ሽ         𝐀𝐧𝐬𝐰𝐞𝐫 𝐃 

 

 

 

Based on the solutions shown, two of ሼെ3, െ2, 2, 3ሽ are roots.  Let go directly to them.  (Descartes 

Rule of Signs does not give us any additional information since there are lots of sign changes.) 

Let’s try synthetic division with 2 as a root (or “zero”). 

  2    1     െ 5           6       54    െ 108 
                         2      െ 6         0          108 

            1     െ 3           0       54               0      So, 2 is a root of the original polynomial. 

Looking at the solutions, the only solution with 2 as a root is Answer B.  Let’s select it and move on. 

                    𝐀𝐧𝐬𝐰𝐞𝐫 𝐁 
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Vertical asymptotes exist at all roots of the denominator that remain after the function is factored 

and simplified. 

𝑔ሺ𝑥ሻ ൌ
𝑥

𝑥ଶ െ 9
ൌ

𝑥
ሺ𝑥 െ 3ሻሺ𝑥 ൅ 3ሻ

 

There is no more factoring or simplifying to be done.  So, we look at the roots of the denominator 

for where the vertical asymptotes are. 

ሺ𝑥 െ 3ሻሺ𝑥 ൅ 3ሻ ൌ 0,   so, vertical asymptotes exist at  𝒙 ൌ 𝟑, 𝒙 ൌ െ𝟑.                    𝐀𝐧𝐬𝐰𝐞𝐫 𝐀 

 

 

 

A slant asymptote exists whenever the numerator is one degree higher than the denominator.  

That is the case with this function, so a slant asymptote exists.  To obtain the slant asymptote, 

divide the numerator by the denominator and disregard any fractional component of the answer. 

Use synthetic division to obtain the slant asymptote.  Recall that the divisor term is the root of the 

denominator of the function, i.e., 3.  Then, 

3    1         9     െ 9 
                        3       36 

            1       12       27  

The result of the division, excluding the fractional component provides the slant asymptote: 

𝒚 ൌ 𝒙 ൅ 𝟏𝟐       Answer	B 

 

 

 

In the log expression,  logୠ8 ൌ 3,   first is “b”, last is “3” and middle is “8.”  We put these in an 

exponential expression, from left to right, to get:  𝒃𝟑 ൌ 𝟖.                 Answer	C 
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In the exponential expression,  7ଷ ൌ x,   first is “7”, last is “𝑥” and middle is “3.”  We put these in a 

logarithmic expression, from left to right, to get:  𝐥𝐨𝐠𝟕 𝒙 ൌ 𝟑.                 Answer	B 

 

 

 

𝑓ሺ𝑥ሻ ൌ 20.2 ൅ 2.5 lnሺ𝑥 ൅ 1ሻ 

𝑓ሺ7ሻ ൌ 20.2 ൅ 2.5 lnሺ7 ൅ 1ሻ ൌ 𝟐𝟓. 𝟒 feet.                 Answer	B 

 

 

 

Recall for this problem that the natural log function and 𝑒 to a power are inverses.  Then, 

ln ቆ
𝑒ଷ

2
ቇ ൌ ln 𝑒ଷ െ ln 2 ൌ 𝟑 െ 𝐥𝐧 𝟐              𝐀𝐧𝐬𝐰𝐞𝐫 𝐁 

 

 

 

When adding logs, multiply the arguments. 

When subtracting logs, divide the arguments. 

log଺ሺ𝑥 െ 2ሻ െ log଺ሺ𝑥 ൅ 6ሻ ൌ 𝐥𝐨𝐠𝟔 ൬
𝒙 െ 𝟐
𝒙 ൅ 𝟔

൰                 𝐀𝐧𝐬𝐰𝐞𝐫 𝐂 
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Starting equation:      5 ൅ 9 ln 𝑥 ൌ 12 

Subtract 5:        9 ln 𝑥 ൌ 7 

Divide by 9:        ln 𝑥 ൌ
଻

ଽ
 

Take 𝑒 to the power of both sides:  𝑒୪୬ ௫ ൌ e
଻

ଽൗ  

Simplify:        𝒙 ൌ 𝐞
𝟕

𝟗ൗ                         𝐀𝐧𝐬𝐰𝐞𝐫 𝐀 

 

 

 

Starting equation:      log଺ሺ𝑥ଶ െ 5𝑥ሻ ൌ 1 

Take 6 to the power of both sides:  6୪୭୥ల൫௫మିହ௫൯ ൌ 6ଵ 

Simplify:          𝑥ଶ െ 5𝑥 ൌ 6 

Subtract 6:        𝑥ଶ െ 5𝑥 െ 6 ൌ 0 

Factor:          ሺ𝑥 െ 6ሻሺ𝑥 ൅ 1ሻ ൌ 0 

Determine solutions for 𝑥:    𝑥 ൌ ሼ6, െ1ሽ 

𝑇𝑒𝑠𝑡 𝑡ℎ𝑒 𝑠𝑜𝑙𝑢𝑡𝑖𝑜𝑛𝑠 𝑜𝑓 𝑥:    𝑥 ൌ 6:   log଺ሺ6ଶ െ 5 ∙ 6ሻ ൌ 1     

𝑥 ൌ െ1:   log଺൫ሺെ1ሻଶ െ 5 ∙ ሺെ1ሻ൯ ൌ 1      

Final solution:    𝐱 ൌ ሼെ𝟏, 𝟔ሽ             𝐀𝐧𝐬𝐰𝐞𝐫 𝐂       

Note:  It is unusual that both solutions are valid, but in this case they are.  You must always check 

each solution to see if it is valid! 

 

 

 

 

Note:  To test the 

solutions you derive, 

use the original 

equation or a 

simplified form of the 

original equation. 
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There is only one step to this problem: 

1) Find the value of 𝑘 based on the population change from 1980 to 1993.   

What are the variables? 

The formula for exponential decay is:  𝐴 ൌ 𝐴଴𝑒௞௧, where: 

 𝐴 is the population at time 𝑡. 
 𝐴଴ is the starting population. 

 𝑘 is the annual rate of growth. 
 𝑡 is the number of years. 

Step 1: Determine the value of 𝒌 

We are given:             𝐴 ൌ 31,          𝐴଴ ൌ 21,          𝑡 ൌ 13 

Starting equation:    𝐴 ൌ 𝐴଴𝑒௞௧ 

Substitute in values:    31 ൌ 21𝑒௞∙ଵଷ 

Divide by 21:     
ଷଵ

ଶଵ
ൌ 𝑒ଵଷ௞ 

Take natural logs:    ln ቀଷଵ

ଶଵ
ቁ ൌ 13𝑘 

Divide by 13:      𝒌 ൌ
୪୬ቀ

యభ
మభ

ቁ

ଵଷ
ൌ 𝟎. 𝟎𝟐𝟗𝟗𝟓𝟖𝟖 

Round to 3 decimal places:  𝒌 ൌ 𝟎. 𝟎𝟑𝟎                        𝐀𝐧𝐬𝐰𝐞𝐫 𝐀   

Alternative:  the population grows from 21 million to 31 million over 13 years.  The rate of growth 

can be modeled by the equation: 

31 ൌ 21 ∙ ሺ1 ൅ 𝑘ሻଵଷ        
 

⇒        
31
21

ൌ ሺ1 ൅ 𝑘ሻଵଷ        
 

⇒        ൬
31
21

൰
ଵ

ଵଷൗ

െ 1 ൌ 𝑘 ൌ 0.030 

 

 

 

𝑒௫ାହ ൌ 8          
 

⇒           𝑥 ൅ 5 ൌ ln 8           
 

⇒           𝒙 ൌ െ𝟓 ൅ 𝐥𝐧 𝟖                     𝐀𝐧𝐬𝐰𝐞𝐫 𝐀 
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We need the change of base formula for this one:  log௕ 𝑎 ൌ 
୪୬ ௔

୪୬ ௕
ൌ

୪୭୥ ௔

୪୭୥ ௕
 

logଽ 16 ൌ 
୪୬ ଵ଺

୪୬ ଽ
 ൌ 𝟏. 𝟐𝟔𝟏𝟗               𝐀𝐧𝐬𝐰𝐞𝐫 𝐀 

 

 

 

Recall for this problem that 𝑒 to a power and the natural log function are inverses.  Then, 

𝑒୪୬ሺଶ௫ఱሻ ൌ 𝟐𝒙𝟓                       𝐀𝐧𝐬𝐰𝐞𝐫 𝐀 

 


